## **Bruce Baker Enterprises, Inc.**

Restoration and Porsche® Specialist 7 Crosskeys Road Collegeville, PA 19426 610-831-1200 Fax: 610-831-1205

E-mail: bbspdstr@aol.com

www.356restoration.com or www.bbakerent.com

August 3, 2013

Robert Boyle 4 Willow Avenue North Hampton, NH 03862

603-397-3700 (Office) 603-379-2265 (Home) 973-214-3626 (Cell)

Subject: 1959 Porsche 356A Cabriolet, VIN 151896

Hours Labor Cost Date Labor **Parts** Parts Cost Credit Total Last billing through May 21, 2013 8.0 \$ 640.00 6/11/13 Prepare added suspension parts for black urethane paint, install new rear wiring prior to trans installation, re-drill rear tunnel access for brake line, rebuild steering knuckles, link and kingpins, bushings, remove cockpit brace (2 techs) 6/12/13 Paint brake parts with 1.5 120.00 urethane, clean and sand exterior of shell 6/14/13 Box painted parts, store, 1.5 120.00 continue with bodywork 7/11/13 Adjust doors after loading 8.25 660.00 appropriate weight in areas of shell, sand primer, prep for lead work

Date	Labor	Hours	Labor Cost	Parts	Parts Cost	Credit	Total
7/15/13	Right side bodywork, door fender and quarter panel	8.5	680.00				
7/16/13	Right side lock post, inner edges of door, fender, block sand	9.0	720.00				
7/17/13	Trial fit door glass and chrome, vents, frames, top frame fit	9.5	760.00				
7/18/13	Left side bodywork, miscellaneous details, gaps, jambs, contours	9.0	720.00				
7/19/13	Miscellaneous bodywork, sanding	4.0	320.00				
7/2/13	Bodywork, hood and front end	4.0	320.00				
7/22/13	Smooth hood, fenders, nose, gaps, ready for primer, mask	9.0	720.00				
7/23/13	Weld crooked holes for front gold emblem, smooth right fender, even gaps	9.5	760.00				
7/25/13	Sand primer, clean car and surrounding area, remount center brace and reset on dolly (on suspension)	3.5	280.00				
7/26/13	Weld closed unneeded gauge holes on dash, grind, clean	1.75	140.00				
7/30/13	Blast, wire-brush suspension hardware for plating	<u>.75</u>	<u>60.00</u>				
	Labor sub-total	87.75					\$7,020.00
				Black urethane paint mix (leftovers), 6 sticks of lead	N/C		
				Black Aerosol etch primer	14.00		
				(11) additional aerosol gum cutters ("2+2") @\$4.49/ea	49.39		
				Würth Contact OL	12.75		
				Good used door handle spring	3.50		

Date	Labor	Hours Labor Co	st Parts	Parts Cost	Credit	Total
			Flexible disc	3.78		
			(6) rubber plugs and grommets for brake and fuel lines @\$4.58/ea	27.48		
			(86) pieces of metric hardware	43.00		
			(6) aerosol primers @\$11.50/ea	69.00		
			(4) aerosol cans of enamel paint @\$4.29/ea	17.16		
			(2) 3M Kleen-N-Strip abrasive discs @\$8.29/ea	16.58		
			(6) 3" 3m thin cutting discs @\$5.45/ea	32.70		
			(3) Roloc discs @\$4.29/ea	12.87		
			(3) 3M 1/4" grinding discs @\$5.85/ea	17.55		
			(Qt) epoxy primer (A+B) @\$48.00/ea	96.00		
			Additional blasting supplies (glass beads, aluminum oxide, expensive nozzle)	100.00		
			(11) 13" x 3/8" sanding belts @\$3.29/ea	36.19		
			Rear transmission rubber mounts (set)	211.40		
			(4) rear torsion bar end grommets @\$14.80	59.20		
			Quart, All-Metal epoxy filler at cost	36.41		
			Miscellaneous shop supplies (solvents, tape, sandpaper)	106.60		
			Norton (sticky-back) discs, box	48.25		

Date	Labor	Hours	Labor Cost	Parts	Parts Cost	Credit	Total
				Re-plating of original	125.00		
				hardware for suspension			
				904 combination gauge w/senders, at cost	558.00		
				Reconditioned 200mm	<u>675.00</u>		
				flywheel, including			
				shipping to Meister Resto.			
				Parts sub-total			<u>2,371.81</u>
	Sub-total						\$ 9,391.81
	Due from bill of 6/10/13						1,148.89
	Sub-total						\$10,540.70
	Credit of direct deposit 6/12/13						<u>-10,000.00</u>
	TOTAL DUE						\$ 540.70